JodododooodododeLTS)uo PDFOO OO
JO0odoooooooOa
https://www.100test.com/kao_ti2020/594/2021 2022 E9 9B 85 E
6 80 9D E9 98 85 E8 c6 H94780.htm I U0 IO OO
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
J000o00doooooooooooooooooooo
Jodooooodo* dodod” O (Multiple choice) O O
OO“ o0o” (Pickfromalis)D OO0 OO0 oodo® o000
0" D0oboooooosoouooooboooz0o0n
Jododoboooooodobooouooouoooooa
Jo0dobooobooouoodoooobooo .oodgo
D000 0000oUoUodoGlobal multiple choice U [
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
J00odobod200000000000o0o00oooan
Jo0o00ooooooooooooboooooo-2000
Joodoboo4oboobouoouoboooooonod
Jododoboooooodobooouooouoooooa
03000000000 odouooououood
Jo0odooooooodoooouoooooooooa
Jo0odoboooooodoooooooooooooa



J0o0doo0oooodoooooooooooooa
J000o0o0oooooooooooonoono 4000
J000o00ooooooooooooooooooooo
Jododoboboooodobooouoooooooooa
Jododoboouoodob ooooooouooboo
Jo0o00odoLrLoood((nstruction 00 ooonoon
Jo0odooooooodoooouoooooooooa
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
JO0o0d0ooooooo noooooooooooood
J000o00o0oo0oodooooooooooooon
Jododoboboooodobooouoooooooooa
0 0O 0O O Inthe first paragraph the writer makes the point that blind
peopled 04, Test1, Q270 DO UOUOOOOUOOUOOOOO
[ O first paragraph] O O O O blind peoplel DO O OO OO O
OO0blindpeoplel D OO OOOO0OO0OOODOO ODOOO
OO0O0000000 The list below gives some of the tasks of an
archaeologist. [ [14,Test4,Q22-230 DO O OOOOOOO
[ tasks of anarchaeologist D O 0 OO0 U000 OO0 OOOO
JO0o0d0oo0oooooooooooooooooooo
DO00000000000 Which THREE of the following
statements are true of Johnson’ s Dictionary? [ [J 5 Test 1 Q1-3[]
OO00000000Johnson” sDictionary O O 0O 00O OO
Jo0odooooooodoooouoooooooooa
Jo0odoboooooodoooooooooooooa



Jododmbodododouoooooooood
Jododododododouooooodouoodo
Jododododododooooooodouoodo
Jododododododooodooodooodo
Jododoodoooooodooonwv.ouoooood
Jodododoooououououououoooon
Jododododododouooooodooodo
Jodododouododouooooodouoodo
Jododododododouooooodouoodo
Jododododododouooooodouoodo
Jo0000a00000ooooououououoooo
Jodododododooouooooodouoodo
Jododododododooodooodooodo
Jododododododooooooodooodo
Jododododododouooooodooodo
Jododododododouooooodooodo
DO00000dododnd 3. The four divisions A. each
employed a staff of 500 clerks B. each had equal levels of productivity
C.had identical patterns of organisation D.were randomly chosen for
the experimentd [ 3, Test4, Q2901 0O O 0O OO 05000 OO O
0000000 0O O The study covered 500 clerical employees in
four parallel divisions. 5000 D D OO0 OO0 oooodd
10TestD OO0 O00O0O0OO0OOOOOOUOOOOOO
www.100test.com



